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Example Candidate Responses — Component 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level Global
Perspectives & Research 9239, and to show how different levels of candidates’ performance (high, middle and low)
relate to the subject's curriculum and assessment objectives.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers to
assess the standard required to achieve marks beyond the guidance of the mark scheme. Please also refer to the
June 2023 Examiner Report for further detail and guidance.

The questions, mark schemes and insert used here are available to download from the School Support Hub. These
files are:

9239 June 2023 Question Paper 11
9239 June 2023 Mark Scheme 11

9239 June 2023 Insert 11

Past exam resources and other teaching and learning resources are available on the School Support Hub.
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How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in

the right-hand column are the Examiner comments.

Example Candidate Response - high Examiner comments
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Examiner comments are

i T e - PN

Answers are by real candidates in exam conditions.
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in
the classroom to improve their skills.

alongside the answers. These [~
explain where and why marks
were awarded. This helps you
to interpret the standard of
Cambridge exams so you can
help your learners to refine
their exam technique.

\- J

How the candidate could improve their answer

e (a) The candidate answered this question well and was awarded full marks. Recognising that some answers were
duplications and therefore not including them would have saved the candidate time for this 3-mark question.

¢ (b) The candidate duplicated answers that could have been excluded.

¢ (b) The question required identification of negative effects rather than opinion. A good example would have been

the stigmatisation of prisoners once they are released.

This section explains how the candidate could
improve each response. It helps learners to
improve their exam technique.

Common mistakes and guidance for candidates
» Some candidates used two or three examples of the same way or gave negative effects that were not necessary.
This time could have been saved for Questions 2 and 3 that were worth significantly more marks.

+ Some candidates gave quotes that, although valid in relation to the authors’ arguments, were not relevant to the
specific question. It is important that candidates clearly understand the requirement of the question before starting

to read the documents and identifying relevant points.

This section lists common mistakes as well as
helpful guidance from the examiner. This will help
your learners to avoid these mistakes. You can
use this alongside the relevant Examiner Report
to guide your learners.
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Question 1

Example Candidate Response — high Examiner comments
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Hgind-10-2S.c hoea \W (6 @ Losing their right to basic

humanity is given as our belief and
therefore not an effect.

Mark for (b) = 1 out of 2

@ Steering youth towards more
successful lives is a correct answer.

Total mark awarded = 4 out of 5

How the candidate could improve their answer

¢ (a) The candidate answered this question well and was awarded full marks. Recognising that some answers were
duplications and therefore not including them would have saved the candidate time for this 3-mark question.

¢ (b) The candidate duplicated answers that could have been excluded.

¢ (b) The question required identification of negative effects rather than opinion. A good example would have been
the stigmatisation of prisoners once they are released.
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Example Candidate Response — middle Examiner comments
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0 More rehabilitation is a correct
answer.

Mark for (a) = 1 out of 3

e Influencing non-violent
offenders mixing is a correct answer.
Three alternatives are given, but
only one is required.

@ stigmatisation is a negative
effect of prison on prisoners and is a
correct answer.

Mark for (b) = 2 out of 2

Total mark awarded = 3 out of 5

How the candidate could improve the answer
(a) The candidate needed to read the question more carefully and recognise that it was about how the juvenile
justice system is better for young offenders, rather than the difficulties.
(a) The candidate needed to look carefully at the quotes used and check that they applied to the question.
(a) The candidate needed to be more selective when identifying different ways.
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Example Candidate Response — low Examiner comments
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different ways.

Mark for (a) = 1 out of 3

@ Both of the candidate’s points
are mentioned by the author, but
not in the context of negative effects
of prison on prisoners. Neither is
relevant to the question.

Mark for (b) = 0 out of 2

Total mark awarded =1 out of 5

How the candidate could improve their answer

(a) The candidate needed to read the question carefully and recognise that it asked them to identify three

different ways the juvenile justice system is better for young offenders. This means looking at a wider range of
ideas put forward by the author to show understanding that there are other alternatives. For example, looking at
rehabilitation, lower arrest rates and being steered towards more successful lives, rather than illustrating the same
point three times.

(b) Although the examples quoted by the candidate were given by the author, they were not relevant in the context
of the question. Consideration of the negative effects of prison on prisoners, rather than quoting broad issues with
the justice system were required for this answer.

Common mistakes and guidance for candidates

Some candidates used two or three examples of the same way, or gave negative effects that were not necessary.
This time could have been saved for Questions 2 and 3 that were worth significantly more marks.

Some candidates gave quotes that, although valid in relation to the authors’ arguments, were not relevant to the
specific question. It is important that candidates clearly understand the requirement of the question before starting
to read the documents and identifying relevant points.

Answers only needed to be brief and could be in bullet points. Although the answers in the examples were

concise, other candidates wrote too much. They often copied out parts of the documents without selecting much of
relevance to the question. As Question 1 is only worth 5 marks out of 45, time management is important.

It is good practice for candidates to read both documents first, then to answer the whole of Question 1, as this
provides background understanding of both arguments which are also needed for Questions 2 and 3.
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Question 2

Example Candidate Response — high Examiner comments
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0 Although the candidate does not
quote figures, the example is valid
and is recognised as a strength.
There is no explanation as to why
this is a strength. This part of the
candidate’s answer demonstrates
AO1a and AO1b skills.

@ The candidate makes no
attempt at evaluation. The impact

of the evidence on the argument is
described, but not explained. (AO1c)

@ This is a different type of
evidence (breadth of evidence
illustrated referring to various
states rather than focusing on just
one locality). The candidate gives
examples of named states from the
document. (AO1a) (AO1b)
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Example Candidate Response - high, continued Examiner comments
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o Significantly, the candidate
explains why this example of
evidence is a strength (unlike in
point 1). (AO1b)

e The candidate does not provide
an explanation as to why this has an
impact on the argument. It is simple
assertion.

@ The candidate provides a
further example linked to a strength,
but it is not explained. (Similar to
point 1)

e The candidate makes an
undeveloped point of evaluation. It is
description rather than explanation,
but is more than just assertion.

@ The candidate introduces the
required balance into the answer

by including weaknesses. This
paragraph covers all AOs. There is
an example of unnamed sources

as weakness of evidence: ‘research
shows’ and an explanation for why
this is a weakness is given: ‘the
reader is unable to easily check the
claim’. The candidate provides some
evaluation that the argument might
be ‘unreliable’, but it is not explained
(like point 2 and point 7).

9 The candidate provides another
weakness giving a wider range

of types of evidence. These are
unsupported statements with no
statistics to show the relevance of
the evidence. The reason this is a
weakness is explained. There is,
however, no link to the argument.

@ The candidate does not provide
a summary to address the impact
of the evidence on the argument,
nor a judgement as to whether
strengths were more significant than
weaknesses.

Mark for AO1a = 5 out of 5
Mark for AO1b = 5 out of 5
Mark for AO1c = 2 out of 5

Total mark awarded = 12 out of 15

10
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How the candidate could improve their answer

(AO1b) Whenever the candidate recognised a strength or weakness of the evidence, it needed to be exemplified
from the document. The key point for improvement would be for the candidate to have fully explained why the
evidence identified is a strength or weakness, rather than just stating or implying that it is.

(AO1c) The candidate needed to give a clear explanation as to how the evidence impacts on the argument. For
example, ‘the reader is unable to easily check the claim that is made, which makes the argument more unreliable’,
gives a partial explanation. It would be improved by explaining why this would be more unreliable, e.g. the source
might be made up or may not have a credible background / provenance.

1
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Example Candidate Response — middle Examiner comments
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o The candidate’s use of statistics
as a type of evidence, exemplified

document is given as a strength.
The reason why this is a strength
has only limited explanation.

e The candidate continues from
the analysis of the strength of using
statistics as a type of evidence to
an explanation of the impact of the
evidence on the argument.

e The solution is part of the
argument and not linked to
evidence, so the candidate is not
answering the question.

12
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Example Candidate Response — middle, continued Examiner comments
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o The candidate mentions the two
states, but this is copied from the
document without any analysis and
it therefore does not link clearly with
the evidence. There are better links
to global scope (point 5) which are
more creditable.

e This is a narrow use of evidence
from one named location in the
world. The candidate attempts an
explanation, but it is only limited in
its outcomes.

@ The candidate’s explanation

is focused on argument rather
than evidence, so there is some
evaluation of the impact on the
argument, but not a developed
explanation of why this evidence is
a weakness.

e A weakness is recognised, that
there is a lack of cited sources,

but this is not clearly exemplified
nor is it implied that it might be an
unsupported view of the author.

13
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Example Candidate Response — middle, continued Examiner comments

acwded Yo ﬁﬁ@(\g%’\b Mook W\ 106 | @ ‘The evidence lacks credibility’
1R and \a_ugax O\ had B0en  sreased | | S @ logical conclusion from the final
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g de yeve g QW TN \' —:p‘_,:d i explained.

The - oREINeL \paks M’to\\\D\\ WO Yok Mark for AO1a = 3 out of 5

e
WAL \MA’L\_QJ’&_\\_/\M p\m\)ﬂ\ ' BTA Y v e__ Mark for AO1b = 3 out of 5
Mark for AO1c = 3 out of 5

Total mark awarded = 9 out of 15

How the candidate could improve their answer

¢ (AO1a) The candidate only used a limited range of types of evidence, but covered strengths and weaknesses. To
improve, a wider range, such as considering the expertise of the author to select suitable evidence (strength) or
that the author may no longer have access to accurate evidence (weakness) needed to be considered.

* (AO1b) Although both strengths and weaknesses were analysed there was only a limited explanation given. The
candidate needed to give more detail as to why the evidence is a strength or weakness rather than just stating that
it is without support. This would have given a more thorough answer.

¢ (AO1c) The candidate gave some evaluation of the impact of the evidence on the argument, but to improve they
needed to make a judgement about how well the evidence supported the author’s argument. For example, did
the strengths of the evidence overall outweigh the weaknesses so that the credibility of the argument was well
supported?

14
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Example Candidate Response — low
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Examiner comments

The candidate’s opening
paragraph refers to background
information and argument, evidence
and counterarguments. The
candidate uses terms, but does
not illustrate them or explain what
type of evidence. The candidate’s
opening paragraph is purely
descriptive. This is not needed as
time could be better spent on other
parts of the answer.

e The candidate’s reference to
rehabilitation is a statement and

is not linked to a defined type of

evidence.

e The candidate links a strength
to a type of evidence. Reference
to research is key especially when
exemplified. (AO1a) (AO1b)

15
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Example Candidate Response - low, continued
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Examiner comments

o The candidate provides further
description from the document
which is not analysed.

e The candidate provides a
second example of a type of
evidence that is recognised as a
strength. There are no weaknesses
given, so the answer lacks balance
and only has a limited range.

@ The candidate’s final statement
does not relate to the document
and could apply to any situation, so

there is no evaluation of impact.
Mark for AO1a = 3 out of 5
Mark for AO1b = 2 out of 5
Mark for AO1c = 0 out of 5

Total mark awarded = 5 out of 15

How the candidate could improve their answer

(AO1a) (AO1b) This question required candidates to ‘Assess the strengths and weaknesses of the evidence...’
‘Assess’ includes identifying the types of evidence and analysing their strengths and weaknesses. Focussing
on these points rather than simply describing what the author wrote in the document would have improved the
candidate’s answer.

(AO1b) This question also required a balance between assessment of strengths and weaknesses so mentioning
only strengths was a disadvantage for the candidate.

(AO1c) Evaluating the evidence by looking at its impact on the author’s argument was worth 5 out of the 15 marks,
but the candidate did not attempt this. Ensuring all parts were completed would have improved the candidate’s
answer and potentially given a higher mark.

Common mistakes and guidance for candidates

(AO1a) Candidates were expected to give examples from the document to illustrate the types of evidence, rather
than providing a general answer that could apply to any document.

(AO1b) Candidates concentrated more on strengths of the evidence, rather than the weaknesses (or the opposite),
and only stated them with limited explanation. Candidates should look to give clear explanations about why the
evidence was a strength or a weakness, rather than just stating that it was.

(AO1c) Candidates were expected to evaluate the impact of the evidence on the argument. This ranges from
making a simple assertion, through some evaluation of the impact, to evaluation that includes a judgement. A
common error was for candidates to not link the impact of the evidence to the argument, instead relying on a basic
assertion that was a low-level skill. To improve, candidates should look to evaluate the impact on the argument and
come to a judgement. For example, evaluating how well the evidence shows, or does not show, the credibility of
the argument.
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Example Candidate Responses — Component 1

Question 3

Example Candidate Response — hlgh Examiner comments

3 || Asknos o6 Dacomenc a ond B Dyesset
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a The candidate’s opening
paragraph analyses and compares
the different perspectives of the
authors. (AO1b) This is a good
way to show understanding of the
arguments.

) [ina GEELNALLS . i all GEHAS, Y ey
. born have bneiy STYLVOIN S ANeL (,uecuw%%&
Jia ey a quywuan R

TR 00OV 0f DOOOWENALSLS SAOTISHCS

£V0 1o OEC Lo SOLYCLS A 200N A0 SOPPNE
WS _Q\GINN 0N AN Lyveodnaept 06 ygnuewiVe
L 10eL0LYS TS CAN 62 Seein OV ke £ictnownd .|
SO Do B YA RNS. 6 Whenkinig Ose £
~ |08 ceingus as A Soute TS Sye (0 o\w\e\ns
| e i e o) k) yhnink. AS . make s Yl
o lodnovi S CAaivn eSS opwWiateed and ealhed

>3 LY. AN 2L LUIMNCE . Addnonaily,. .. ] @ The candidate identifies the
AN AUANOY!S USR 0L an 06 OLSOu Y cetewy. . | | firstkey component of the argument
e Canker S oY DSensS e (onyal awnc Peveniton | |— use of supported statistics — for

1 eAS0 ngkes 5 LNy OVQUNMINL 0L Y | Document A. So far, there is no

__,%U,,p,,poymgd_,.‘\MMV\,_,(,c)w_\.pm',ed\“_,lco,..,&v,\,e,, auvnoy | | comparison with Document B.
(AO1a) There is some evaluation as

to what the supporting information
is, namely the US Census, but no
further explanation as to why this is
reliable evidence. (AO1c)
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Example Candidate Responses — Component 1

Example Candidate Response - high, continued Examiner comments
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e The candidate makes a
comparison with Document B of
the same type of evidence. The
candidate states that no statistics
are given in Document B and then
demonstrates some evaluation by
describing that the claim sounds
opinionated rather than supported
by evidence.

o The candidate makes an
implied judgement that Document
B is weakened by the potential
bias, but although reasoned it is
unsupported by evidence. (AO1d)

e The candidate uses several
examples from Document A to
reflect how this is a key part of the
argument. It is not compared at this
point with Document B.

e The candidate’s evaluation is
developed and supported with a
clear understanding of how these
examples strengthen the argument.

e The comparison is now made,
but the evaluation of the argument
for Document A is unsupported

and undeveloped. The candidate
provides a partly supported
judgement to show that this part of
the author’s argument in Document
Ais weaker as it is more narrowly
focused.
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Example Candidate Responses — Component 1

Example Candidate Response - high, continued
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Examiner comments

e A counterargument is a key
component of an argument and
is described with quotations for
both documents. There is a partly
supported judgement that both
Documents A and B are strong
because of this.

@ Although the candidate’s
paragraph begins with ‘In
conclusion’, there are more
comparisons of key components
of the argument that have not
previously been used. The first

is about the difference in tone,
Document A as persuasive and
Document B as emotional. These
are relevant points of comparison
for AO1a.

@ Another key component of an
argument is the provenance of the
authors and the documents. The
candidate makes a comparison
and evaluation of the significance
has added to the credibility of the
arguments.
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Example Candidate Responses — Component 1

Example Candidate Response - high, continued
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Examiner comments

The candidate’s whole final
paragraph is building towards a
reasoned judgement, but it is only
partly supported as it just uses new
supporting material rather than
using all that is available.

Communication (AO3) is
assessed for the whole answer.
The candidate produces a clearly
written (expressed), well-structured
argument that links to the question.

Mark for AO1a = 5 out of 5
Mark for AO1b = 4 out of 5
Mark for AO1c = 4 out of 5
Mark for AO1d = 3 out of 5
Mark for AO3 = 4 out of 5

Total mark awarded = 20 out of 25

How the candidate could improve their answer

(AO1b) The candidate needed to explain the perspectives of both documents, rather than just describe them.

(AO1c) Some of the evaluation was undeveloped or unsupported. To improve, the candidate needed to fully
illustrate from the document and fully evaluate the relevance of the key component on the overall argument.

(AO1d) The candidate’s judgement was all partly supported with the final paragraph introducing new ideas rather
than concluding. Where the key components of the argument for both documents are compared it is good practice
to use an intermediate judgement clearly supported by the material provided by the candidate. In addition, a final
paragraph should use key points as support to make an overall judgement as to whether Document A is stronger
than Document B, Document B is stronger than Document A, or they are equally strong.

(AO3) Although the candidate’s answer was clearly written (expressed) and well-structured it would have been
improved with a more logical argument and one that focused on the question throughout.
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Example Candidate Responses — Component 1

Example Candidate Response — middle Examiner comments

2 | | Docimeny B and B presens. (WSeer
JO0guments _ono.. pers OACIINes,. OO NE _ANSTACE
| gsasﬁ‘em 20A . RoY W CAUMAES . OGS | gvrengiins.
L AN0 WEeARNCSSCS 0 AheAr. arguerOeny. ...

.............. RocumMENT . AL_NAA . yanoUS _SIrengrhns .. ana
lwedunesses . WONEN A _CoMNES Yo atvelopng s ]
--BYGUEMEt . an  eSTROMEN. . PErS RECIVES o]
JRociment A eRGchive _estatisnes NS
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0 The candidate considers
Document A and Document B
separately. The named source gives
a key component of the argument
for Document A.

9 The candidate shows
evaluation of this credible source

by recognising their experience

of prisons. This is unsupported
evaluation as the reasons they are a
credible source and why this should
be considered a strength to the
argument are not clearly given.

el 8S Sﬁkr_\%..q,uhn‘\'ﬁ\'ahve QAara_as. Schicalo.
rains bour an Ahe A\A60, YUS . ot goe.. \Aodd-hg‘
e ¥ + _his Cenm &S 5%

U\WM \3@%«\% ofeenders.  Sheuld Qo Fnaredgh
DOUE _SYSTEM . Furrnemoce.,. Declmens A wos. |
WOHRN N 2020 whon (S _pretty Yseent, bona.
1 R€leNeNCe o FNE. DN TS DO UEIMENY -« RCWever,. .
JOecument A PRrnR Cily - TRAMS D0OUY.. POISIONS. .
Jan._ Canfor ma.  Camer than_ priiorn . PEOOT). W] further key components of evidence
}A_glopal. eovesE , Lopiin g ane . perdpecnuce | — the [recent] publication date, the
of_The acgrement.. fuckmermore  Doumentt [limited] geographlcal scope anq
______________ Joo] B provides B anese strong  setdfien, howeexer the solution put forward. There is
_ | asesps prowde @ WAy To IMPENENY hiS. So(UTon no comparison with Document B
eﬁumxdmmms_wem\erth\sar‘gtcmemPrc\omomnk_ﬂ at this stage. There is unsupported

1 Dowment A Mgy NAvL poNTNA\ blas. as . evaluatlor? of the impact of a narrow
geographical focus.

e The candidate gives three
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Example Candidate Responses — Component 1

Example Candidate Response — middle, continued Examiner comments
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N0 UMNOIREY weaurens e overal Lo
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_______________________________ INOsST L _grisien. JuSt need o ke _prownded .|
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e AARE L oo @NAP\ach. ana . docs o US| description. There is no equivalent
analysis of the perspectives of
Document A.
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Example Candidate Responses — Component 1

Example Candidate Response — middle, continued Examiner comments

e The candidate makes further
points of comparison in this
paragraph and an intermediate
judgement. However, although this
has reasoning in the paragraph,

it is unsupported as there is no
reference to the approach of the
author of Document A.
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the whole answers and makes a

judgement that Document A has a
stronger argument than Document
B. The judgement, though, is only
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|| o;8s._oner_aimiadeiy  Maves  Douvers. A written (expressed) argument that
e ]-STenger. ran . Doument B s the Qact W links to the question. However, by

writing about the two documents
separately, this leads to an uneven
structure as the intermediate
judgements are limited and there is
repetition and assumptions when
comparing the documents.

Mark for AO1a = 5 out of 5
Mark for AO1b = 2 out of 5
Mark for AO1c = 2 out of 5
Mark for AO1d = 3 out of 5
Mark for AO3 = 3 out of 5

| DOAMENE B _USes o sLUSDTANAN. Bsnence. ...
6 T2 _SUPPECEr TS &regUEmMSNT. SN0 . PEr pECHWES, .|

Total mark awarded = 15 out of 25

How the candidate could improve their answer

e (AO1a) Although the candidate compares a wide range of key components of arguments for both documents, they
were separated by writing about Document A and then about Document B. Comparing the key components directly
would make for a more concise answer and have benefits for both AO1c and AO1d.

¢ (AO1b) The candidate should look to describe and explain the perspectives of both documents rather than just
one. It is good practice to compare the perspectives of both documents at the start of the answer describing and
explaining their significance.

¢ (AO1c) The candidate’s evaluation was undeveloped or unsupported. To improve, the candidate should have
given full illustrations from the document and fully evaluated the relevance of the key component on the overall
argument.

¢ (AO1d) The judgement was limited with only one intermediate judgement that was unsupported and the final
paragraph having a partly supported judgement. As the candidate distinctly separated the answers into Document
A and Document B there was very limited opportunity to make relevant intermediate judgements. Making a direct
comparison throughout the answer would have improved the opportunity for good judgements. In addition, a final
paragraph should use key points as support to make an overall judgement as to whether Document A was stronger
than Document B, Document B was stronger than Document A, or they were equally strong.
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Example Candidate Response —

Example Candidate Responses — Component 1
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Examiner comments

a The candidate’s opening
paragraph gives an overall
judgement, but it is unsupported and
simply stated at this stage.

While addressing the author’s
conclusion in Document B, the
candidate identifies a perspective
of the author of Document B but
with limited description. There is no
comparison with the perspective of
the author of Document A.

e The background of the author is
a key component of argument — it is
given here for Document B without
any comparison with Document A.
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Example Candidate Response —

Example Candidate Responses — Component 1

low, continued

\ﬂ&/“&l&num OF non-vio viviinalg,

. 8d@\\\wmal\m A LANEN PASONETS Ay,

FONODSCA Hnen
Hoor el T aikeicol+ e

 ace _SRoHohz oM, |

foC_ Y\ Yo Wve 2ra AN

| e wenEcrs_ and 89 dcawndesd

wwedded, 0, dcomet

BUOWSs Co™ ix  to  becoe od\anced

2ok e\ Yoy O
: Do\ A, an W oYher nang

AOSANDE OB D pNEnEd

covvent  Cov e concluans

Sxennt ek NoWwe) aecencrers

LAD Ywr eAnng W ad it eusond.,
e downent o containg vt

PENEEYS  C8 & suven e ensun

e _NOWN 9 cRPeNl&D,  tnciuaing,
IOWES ve-adredt yatfd  FoC nvohd

WA 0 Y\ DU suveniye  endon

N \nvouan Hha aolvY sysiun,
eNOBAWNQ)_Nnn_n__colucaNon,

C,DVY\W\\JY\MJ\ %@/\/\06; nd oy

Wi 000\ YWY - DGL

N Wy, e R Yo S e

\mm'\’\ o wWarohS YN Oore SVCLESS Z)

WeL  Anck  Wnose Lo g0 Ywmuan

e Juvenite SSGemn can N oaur

| GO vewodds annpen wddlen

Bonn_pudhc vieww  pocoMent A

ONY_eocusSd  an Yy kenead

ce  ¥neic & cgoomment WianNg
W uateviaeie 28 1WVE olocuvvend-

NSNS \oanwance .

Examiner comments

The candidate is descriptive
with the information taken from
the document without any link to
the key components of argument,
perspective, or evaluation. It does
not add to the candidate’s argument.

Document A is referred to
separately with a comparison of the
balance of the argument being given
at the start of this paragraph and
the end of the previous paragraph.
There is some unsupported
evaluation.

@ This section is descriptive,
adding nothing to the candidate’s
argument.
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Example Candidate Responses — Component 1

Example Candidate Response - low, continued Examiner comments
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considered separately there are
no intermediate judgements. The
candidate’s final paragraph simply
repeats the assertion of the first
paragraph. It is unsupported and
stated only.

Communication (AO3) is
assessed for the whole answer. The
candidate produces an argument,
but it lacks clarity and structure and
does not always link to the question.

Mark for AO1a = 2 out of 5
Mark for AO1b = 2 out of 5
Mark for AO1c = 2 out of 5
Mark for AO1d = 1 out of 5
Mark for AO3 = 2 out of 5

Total mark awarded = 9 out of 25

How the candidate could improve their answer

(AO1a) The candidate relied on describing information from the documents, rather than considering the key
components of the arguments and evaluating them. Considering key components of the argument such as
evidence, background / provenance of authors, structure and tone would have improved the answer.

(AO1b) The candidate needed to describe and explain the perspectives of both documents rather than just one.

It is good practice to compare the perspectives of both documents at the start of the answer describing and
explaining their significance.

(AO1c) The evaluation was limited and undeveloped which reflected the lack of identification in AO1a. To improve,
the candidate needed to give full illustrations from the document and have fully evaluated the relevance of the key
component on the overall argument.

(AO1d) The judgement in the first and last paragraphs was simply stated. As the candidate distinctly separated
the answers into Document A and Document B there was very limited opportunity to make relevant intermediate
judgements. Making direct comparisons of a range of key components of argument would have helped with
providing supported intermediate judgements.

(AO3) As much of the answer was simply descriptive information from the documents, much was not linked to the
question. Having a more focused approach would impact on all the AOs and lead to improvement.

Common mistakes and guidance for candidates

(AO1b) This question specifically asked candidates to consider the authors’ perspectives as part of evaluating

the argument. Many candidates either did not evaluate perspectives at all or did so in a limited way. A perspective
is made up of an argument, evidence and assumptions and may be influenced by a particular [global] context.
The perspective is the overall point the author is making / what the author is writing about / what the overall
argument the author is making. It gives an overview. The most effective approach is for candidates to consider the
perspectives of the documents at the start of the answer, as it prepares for the following detailed consideration of
the arguments. This helps the structure of the answer as it leads into consideration of the detail of the argument
covered by AO1a and AO1c.
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Example Candidate Responses — Component 1

.

(AO1d) This question asked candidates to evaluate the arguments of both authors and consider their perspectives.
Candidates were also required to provide a judgement about whether one argument was stronger than the other.
This outcome could be that Document A was stronger than Document B, Document B was stronger than Document
A, or they were both equally strong. Some candidates wrote about Document A, and then Document B which made
judgement difficult and relied on a final concluding paragraph to make their point. Several candidates appeared

to run short of time which meant that the judgement was limited. This could have been improved by comparing
each key component of the argument for each document throughout, evaluating it and coming to an intermediate
conclusion. This would be a more concise and structured approach to the answer.

(AO3) Communication skills were only assessed in this question. The main issue was a lack of structure in the
answer making points that overall did not provide a clear, coherent approach. Making a plan before writing the
answer would help candidates structure their answer. The answer could have included an introduction to consider
the perspectives, then several paragraphs looking at key components of the arguments and comparing them,
before giving an intermediate conclusion for each. To finish, a full conclusion to consider all the supporting detail
then making a judgement as to whether one argument was stronger than the other. There would be no need to
repeat all of the supporting reasoning and evidence, but a well written summary and judgement would complete the
answer clearly.

27



Cambridge Assessment International Education

The Triangle Building, Shaftesbury Road, Cambridge, CB2 8EA, United Kingdom
t: +44 1223 553554

e: info@cambridgeinternational.org  www.cambridgeinternational.org

© Cambridge University Press & Assessment 2023 v1



